IJY-2J
A{TMIRIES S (EPD)

HRRIRIER

=== =3%5 : JR-AI-24056E

orother

at your side

SUMPOEIESAILI OIS A

—MRAEEATRT T T IVIEEHEME

E//AL—H—EEH

Monochrome All-in—One Laser Printer

M FC_LZ 750DW for Japan

JS5H—T #4344 / BROTHER INDUSTRIES, LTD.

BRI
H@1EHED

BENREERE
m AL WS

ERARIRIE, 4. OB, 5 - IS EIR, FEE-UY()) REES T

RKEOBR, EEMLE -
B : MFC-L2750DW

-EEH (EPATR)
-&/70

m
dl

-ENRIEE : 34ppm (A4)
-ERAFIRY/X 1 A4
<UD/ TE—/ZFv > [FAX/
BEEEENR/ADF(RIsBEE8FHAH)
ARAEE : 12.0kg. DA : 3.2kg
-BHR/ERRLAN
XAHGBEIBARMLMITTI,

BEWShtE%

ISP -T MR

inml-ecoleaf—jimukyoku(at)brother.co.ip

RREPTFRBXABEBE1-14-8
KANDA SQUARE GATE

httos://ecoleaf-label jo

ERES JR-AI-24056E
EAPCRES PA-590000-AI-08

PCR#% ERA LSS [558MR)
2EA 2024%11H8H
WIF&I8E  2024410828H

S AT LREAT
REIES JV-AI-24056E

REIAE#EAR 20294108278

PCRLE1—-0DE}E

REHS 20234 98 1H

ZER Mg &2

(= EE NS XT3 D) R EHEERAE)

B=EREIE*

SEMREEE /B8 RREE

ISO14025(CfE D TeARBERUT —F DIRIL U TEAREE

OPEB

m SED

*2 AT LRI E R TEBEAADIREDIZ S (E. S RFT AR ZTD

EEEDERIZLLH.

https://global.brother/ja

Ei¢&ES © JR-AI-24056E


mailto:inml-ecoleaf-jimukyoku@brother.co.jp
https://global.brother/ja

TY—J SUMPORIESALT OIS A

- —BAEEAY R T T
A1TMIRIEEE (EPD) SRHBTFHRBXN®B1-14-8
pi  m4zme . JR-AI-24056E KANDA SQUARE GATE
https://ecoleaf-label.jp

OS54 TV1 V) EFliER

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 600 | kg-CO2eq
[ivde e 0.38 | kg-S0O2¢eq
BRHE 0.026 | kg-Sbeq
DR FEAE mQERE = Q&
B @EA- R EOREE-UHIIIL
P9iR B| B ait |oOFE#RREE QfE Ot |@mm - wsEE - U1
SUEZE) IPCC 2013 GWP 100a | kg-CO2eq | 6.0E+02 || 1.0E+02 | 4.4E4+00 | 3.0E4+00 | 4.7E+02 | 2.4E+01
e e kg-SO2eq | 3.8E-01 7.6E-02 3.1E-04 4.9E-03 2.9E-01 1.1E-02
BRHE kg-Sbeq 2.6E-02 8.6E-03 1.3E-05 1.3E-05 1.7E-02 6.3E-06
@ EBCALEST CMEBRUME CEIT DB
IHH = Tivj A - WE (ERLESD) Hifi7
IFBLENREEIR 2.8E+01 kg F=p Gk 2.6E+00 kg
IEBETRETRILF— 8.7E+03 MJ] SuUsS 5.8E-02 kg
BERER 6.7E+01 kg FILE=D L 7.7E-02 kg
BERgEIRILT— 1.9E+02 MJ TDfMERE 0.0E+00 kg
HRIKDHEE 7.3E-01 m3 TSAFvY 7.6E+00 kg
AN 1.5E-01 kg
HSR 7.4E-01 kg
- K 2.6E+00 kg
RREIRER 5.0E-01 kg
Z ottt 8.0E-01 kg
CHEMRICET SIEMEHR
EREEOEERZE (SFUA)
wBEH (EPAN) . 1BEFFIEAM 5. AERIAER : 172,8004%. ENRAIESZE (JXF—>) :ISO/IEC 19798
EIRIAMRERIBEER(CESER. BRAUEIRILF-RI—-TOJS A : Ver.3.0. ARRFEAMTES
©-1.FDMDRIZEERER
ABRBOMEIIEE EFEIPRD b F—RUBAAEE(FISO14001 FAEHRTLIH C TITHNTULETD,
QERAULEZRT—IDERS
IDEA v2.1.3 RUSUMPORIESANILTOT S ABSRREEAL v1.15 ZFEAR U,

l
=
o

0T —IHEEDSE(E. PCRELUETE - ESHEZSRBLTIIEE,
OLLERICDWTIE. BE - EERBE(CRESNIEMHZ/IZUITBS(CUNROENEL A
(B885%URL : https://ecoleaf-label.jp/regulation/)
Eix&ES © JR-AI-24056E



